MATHEMATICS

The vertices of a triangle are A(0, 0), B(0, 2) and C(2, 0); then find the distance
between its Ortho-centre and Circum-centre.

(A) 0 B) J3

1
(C) TFE (D) None of these

The vertices of AABC are A(2, 2), B(- 4, — 4) and C(5, — 8). Find the length of a
median of a triangle, which is passing through the point C.

(A) 65 (B) 117
(C) ‘Jgg (D) \f'ri.ﬁ

The equation of the lines with slope —2, and intersecting X-axis at a distance of
3 units from the origin is .......

(A) 26 +y+ 6=0 . (B) x+2y+6=0
(C) 2¢+y+3=0 (D) x+2y+3=0

If the distance of a line from the origin is /5 and having intercepts in the ratio
of 1 : 2 on axes, then the equations of lines are ........

(A) 2% -y+5=0 B) 2 +y+5=0
(Cy x-2vy+5=0 (D) x+2v+5=0

Ortho-centre of the triangle formed by the lines x -y =0, x +y =0, x = 3

15 .....
(A) (0,0) | (B) (3, 0)
(Cy (0, 3) (D) can’t be found

~
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If the line y = mx + ¢ is passing through origin and away from the circle
4x* + 4y% - 80y + 360 = 0, then .....
(A) |m>3 (B) m>3

(C) m<-3 (D) ml<3

T
The equation of tangent of y* = 12x and making an angle 3 with X-axisis......

(A) +y—vBx+43=0 (B) *y++/3x+3=0
(C) +y—v3x—3=0 (D) ty++3x-3=0

A focal chord of the Parabola y* = 4x makes an angle of measure 6 with the
positive direction of the X-axis. If the length of the focal chord is 8,

PHER B v [0{9{-—}
i
@) 3 B &
) E (D) None of them
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10.

11.

12.

13.

14.

2 2
If aline x + 2y = k touches to the ellipse % + %ﬂ =1, then find 4.

(A) =12 (B) R==%5
(C) R=25 (D) = - 25
2 42
' 1li I ——>—=-11is......
Equation of auxiliary circle of 6 %5 is
(A x*+y2=16 B) x*+3° =25
C) x*+5°=9 (D) x2+4y% =41

Find the measure of angle between the asymptotes of x? - y% = 16.

m T
By B i)
(A) 1 (B) 3
0 i
(C) 6 D) 5
_ ; . s 1 3 R
If |x|=13 and direction angles of % are cos 3 %% 3 and
12 )
cos T — .
S 13’ then find %
(A) 3 +47-12% (B) 3i+4j+12k
(C) 3i-4j+12k (D) 8i-4j-12k

In R?, find the unit vector orthogonal to unit vector ¥ = (cos o, sin o).

(A) (cns 0‘2, sin %) (B) (-cosac, —sin o)

(C) (-sin o, cos ) (D) (cos o, sin o)
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15.

16.

17.

18.

If @=3i+4j+% and b=i+j—Fk ,then CDmpE&' = i
(A) 32 (B) 243
€ -3J2 D) -23

By vector method, find the co-ordinates of a point which divides AB from A in
the ratio -3 : 2 ; where A(1, 2, 3), B(5, 6, 7).

(A) (13, 14, 15) (B) (-13, -14, -15)
(C) (-13, 14, 15) (D) (-13, -14, 15)

Find the shortest distance between the lines =~ ; 3 _Y +715 _¥# ; 9 and
x+l_y-1_2-9
g 1 =38
(A) 2V3 (B) 33
(C) 443 (D) None of these

Find the distance between the planes r- (21_ 5 BE) =4 and

Fo(6i-3j+9k)+13=0.

5 10
) )

25
(C) 3(@) (D) None of these
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19.

20.

21.

22,

23.

Find the direction of intersecting line of two planes
2x+y+z=1land 3x+ 2y-2=3

(A) (3,5, 1) (B) (3,5,-1)

(C) (-3,5,1) (D} None of these

The equation of a Sphere having centre (1, 2, 3} and radius 3 unitsis ......

(A) x°+ y? +2°-2x-4y-62=0
B) x>+ yY* +2°-2x-4y-62+5=0
C) 22+ 2 +22-9x-4dy-62-5=0
(D) None of these.

x+3

lim (1+—4——) 2 e
T—reo x—1
(A) e (B) &2
C) é° D) e
N(4,8) " N(6,8) # ¢ , then the value of & is..........
(A) 1 (B >1
C) <1 (D) & is not possible.

n_on
lim * e =32, then n=......e........; ne N
x—2 X-
(A) 3 (B) 4
(C) 5 D)y 2

~
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24.

29.

26.

27.

cx+1 ; x<£8
If f(x)={

ex?-1 ; x>38

CNIA (B) 2,

(€ 3 (D) 3
# . x -1
If f(x)=f(x), A0) =1, then i:_r}% A i T gnnngen b
A 0 (B) 1
C) -1 (D) 2
% [xs(cﬂs_lx-i-sin“l x)]= ........ : |x| <1
o3
(A O (B) E*I
(© 387 (D) 32
E{sin‘1 £:|= ......... + a<0 and ‘* <1
a

1 1
&) 32 B) 2 2

<1 !
© JT o ® [T

is continuous at x = 3,then ¢ = ..........
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28.

29.

30.

31.

32,

. 72
If mn <x<2n,then i tan_l(1 cosx] I8 s
dx 1+cosx

(A) (B) 1

0
© % D) -1

Atangent to the curve y = log, x at point P is passing through the point (0, 0),
then the co-ordinates of point Pare .............

(A) (0, e) (B) (e, 0)
(€C) (e, 1 (D) (1, e
, , 5 dx dy
Find the point on the Parabola y“ = 8 such that o
1
(A) (0, 0) (B) [E’ 2)
© (4,2 (D) (2,4

The equation of the normal to the curve x* = 4y passing through the point
(1,2) 18 covereennn,

(A) x+y-3=0 (B) x~y-8=0
C) x+y+3=0 D) x-y+3=0
ex_1+x€_1
FEE S e
e* + x¢ '
(A) logiex+xe|} | (B) elogle® +x°
1
©) - logle* +xf] (D) llog{'e"*uxe‘ll

T

collegeduniaa



34.

35.

(C) (%ﬁ—3x+@
i i
'[x -1)(x3+4

1 1 |
(A) E % x3 +4

3_1){x°+4

(C) —élﬂg (x L&x )
jgeﬂ -eex ol T +C
(A) e
(C) e

nnnnn

(B)

(D)

(B)

(D)

(B)

(D)

; (2:152 + 3x + 6]

—g- (2% +3x+6)

xB

2 -1

—log

ol
g‘(xg—l)(xg-kél)

|
|
|
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36.

37.

38.

39.

40.

%

. 3 3

J sz i 2‘“ % e

_/ Cos X-5in Xx

2
T 1L

(A) 5 (B) 1
(C) 0 (D) -m=
i

[ |sinx—cosx|dr= ...

0
(A) V2+1 (B) ‘/5,__ .
© 0 (D) 2V2
Find the area, if a curve xy = 4, bounded by the lines x =1 and x = 3 and
X-axis. _
(A) log 12 (B) log 64
(C) log 81 (D) log 27

The integrating factor (I.F.) of the differential equation

dy . x .
cos:x:£=ysmx+e COSX 1S .correvvnn
(A) e 957 (B) cosx
() e™"* (D) secx

A body projected in vertical direction attains maximum height 50 m. Find its

velocity at 25 m. height.

(A) 2410 m/s (B) 3v10 m/s
(C) 5J10 m/s (D) 7410 m/s
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